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WORKSHEET 3.1h WRITING IN EQUALITIES

The symbols below are used to write inequatities. The inequality symbols show that two

expressions are not equat. n represents a number.

" The symbol < means "is less than." Example: The sum of a number and 4 is less than

10. n*4 <70

* The symbol > means "is greater than." Example: The product of 3 and a number is
greaterthan 15. 3n>15

' Thesymbo[ < means"istessthanorequaIto,""isnogreaterthan,"or"isatmost."
Example: -3 times a number is at most 1. -3n < 1

o The symboL > means "is greater than or equat to," "is at least," or "is no less than."

Example: Twice a number is at least B. 2n > 8

DIRECTIONS: Write an inequatity for each statement. Use n to represent a number in

probtems 4 through 10.

t" S is less than 10.

3, g is greater than or equal to 0.

$. 4 times a number is at least 15.

?, A number divided by 5'is at most 21. 8.

L Sam's test score exceeded 90

percent.

?," -Z is greater than -1+.

4. 2 less than a number is at most 16.

6" the sum of a number and -2 is no

less than 5.

The product of 5 and a number is
greater than 90.

At least 300 peopte ran a

five-ki[ometer race.

CEALLENGE: Explain the difference in the meaning of "7 less than a number"
and "7 is tess than a number,"
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WORKSHEET 3.11: WRITING lN EQUALITIES

&"

t#.

*.9

s.

(U

(u

c,

(n

d
U

E

tq
€
.d

.d

Uq

t
P
OJ
.oo&

rd
C5

(6

U
a
E

p
.d

D
p

o
N

o
#
CD

o,o(J

The symbots betow are used to write inequatities. The inequality symbols show that two

expressions are not equal.. n represents a number.

, The symboL < means "is less than." Example: The sum of a number and 4 is less than

10. n+4<1.0

o The symbo[ > means "is greater than." Example: The product of 3 and a number is

greater than 15. 3n> 1.5

* The symboL < means "is [ess than or equat to," "is no greater than," or "is at most."

Example: -3 times a number is at most 1. -3n < 1

* The symboL > means "is greater than or equaI to," "is at least," or "is no less than."

Example: Twice a number is at least B. 2n > 8

DIRECTIONS: Write an inequality for each statement. Use n to represent a number in

problems 4 through 10.

t, S is Less than 10.

5< l0
$. g is greater than or equaI to 0.

3>0
S" 4 times a number is at teast 15.

Lln \ 15
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A number divided by 5 is at most 21.

Sam's test score exceeded 90

percent.

'*, 
-Z is greater than -4.

-z> -4
&" 2 less ihan a number is at most 16.

n-L z- 
16

&. tfre sum of a number and -2 is no

tess than 5.

n +(z) -s 5
The product of 5 and a number is
greater than 90.

At least 300 peop[e ran a

five-kitometer race.

meaning of "7 less than a number"GEALLENGE: ExpLain

and "7 is less than
the difference in the
a number."
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